
Math 101-172-Sec.5 -Quiz #3 

Name:                                                                         ID:      SR: 

Question1: Find the point(s) on the curve 𝑦 =
𝑥

𝑥−2
 where the tangent(s) is (are) 

perpendicular to the line  2𝑥 − 𝑦 = 3. 
 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Question2: Let  𝑓(𝑥) = {
cos(𝑥) −

𝑥

𝜋
+ 4, 𝑥 ≤ 𝜋

1−tan(x)

𝜋
, 𝑥 > 𝜋   

, find𝑓\(𝑥). 

 
 

 
 
 
 
 
 

 

 

 

 

 

Question3. Find the tangent equation to the curve 𝑓(𝑥) =
𝑠𝑖𝑛(𝑥)

1−cos (𝑥)
 when 𝑥 =

𝜋
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